RO015078B Module A infeed arm alignment

Process for alignment of infeed arms

@ Difficulty Hard ® Duration 10hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Mount 1st section

Step 3 - Mount 2nd section

Step 4 - Mount 3rd section

Step 5 - Quality Check

Step 6 - Pin sections in position

Step 7 - Finalize fasteners

Step 8 - Prepare Support Channels

Step 9 - Mount Section

Step 10 - Mount Pre assembled load Arm 1
Step 11 - Fit Pre assembled support brackets
Step 12 - Install remaining arms

Step 13 - Arm alignment

Step 14 - Check levels

Step 15 - Quality check

Step 16 - Drill and Pin 1st stage

Step 17 - Finalize fasteners

Step 18 - Drill and Pin 2nd stage

Comments

Introduction

Tools Required

Standard spanner set
Standard Hex key set
Pedestal stand
Adjustable jack

1 meter straight edge
300mm engineers level
Lever bar

Standard tap set
Standard hss drill set
Hammer

Tape measure

Wire line

Clamps

Page 1/15



Parts Required
D0015038B x 1

D0015039B x 1
D0015257x 1

D0015035Bx 1
D0015036B x 1
D0015037Bx 1

Step 1 - Unless otherwise stated

Use loctite 243 on all fasteners
Use Loctite 572 on all threaded pneumatic connections
Pen mark all bolts to show finalised

Step 2 - Mount 1st section

1 Mount DO015038B in position shown .
Use M12 x 25 set bolts and M12 A form washers. Do not add loctite 243 at this stage. Ensure Section is mounted mid slot as shown

2 Use a 2 meter straight edge and position on top of mounted section as shown
Use 300mm engineers level and adjust indicated point to bring section level

3 Tension fasteners to hold support section position

Page 2/15


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/images/thumb/9/99/R0015077B_Module_A_infeed_arm_alignment_Screenshot_36.png/ia-c9256236a57b057071aad9bbc05d1888-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_36.png.png

Page 3/15


https://stuga.dokit.app/images/thumb/b/b4/R0015077B_Module_A_infeed_arm_alignment_Screenshot_37.png/ia-2d57d23c801393a9653028b9e532869f-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_37.png.png

this end to
adjust level

Page 4/15


https://stuga.dokit.app/images/thumb/c/c4/R0015077B_Module_A_infeed_arm_alignment_Screenshot_38.png/ia-d8e36e556289a82aae479811e73ceec4-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_38.png.png
https://stuga.dokit.app/images/thumb/e/e9/R0015077B_Module_A_infeed_arm_alignment_Screenshot_39.png/ia-3008faf20fd5df66374bce1ba63d834f-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_39.png.png
https://stuga.dokit.app/images/thumb/9/9b/R0015077B_Module_A_infeed_arm_alignment_Screenshot_40.png/ia-bc5cf8cbf1d385348a7bbc44abdc3f79-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_40.png.png

Step 3 - Mount 2nd section

1 Mount DO015039B at position shown using same fixings as previous step
2 By extending 2 meter straight edge slightly from previous fitted section, set height at point shown to be flush with 1st section

3 Move straight edge to sit only on 2nd section and move indicated point to adjust level

4 Tension fasteners to hold support section position

Step 4 - Mount 3rd section

1 Mount D0015257 at position shown using same fixings as previous
2 By extending 2 meter straight edge slightly from previous fitted section, set height at point shown to be flush with 1st section
3 Move straight edge to sit only on 2nd section and move indicated point to adjust level

4 Tension fasteners to hold support section position

Page 5/ 15


https://stuga.dokit.app/images/thumb/c/cd/R0015077B_Module_A_infeed_arm_alignment_Screenshot_43.png/ia-5742f3a6f38ae8ef11ff673279328ca4-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_43.png.png
https://stuga.dokit.app/images/thumb/6/6f/R0015077B_Module_A_infeed_arm_alignment_Screenshot_41.png/ia-c5fa75cd7cd4be4cf784f0c8acdb9356-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_41.png.png
https://stuga.dokit.app/images/thumb/e/ef/R0015077B_Module_A_infeed_arm_alignment_Screenshot_42.png/ia-4a256124037ab2d82cb4f31bc552dfb3-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_42.png.png

AO015265-6m-1<1> “Frame" Dedalt<ds

40015257 <2> *Mounting Channel 3* (Default)

40015257 2> “Mounting Chanrel X, (Defaut) |

Page 6/ 15


https://stuga.dokit.app/images/thumb/3/3b/R0015077B_Module_A_infeed_arm_alignment_Screenshot_44.png/ia-0efd2b79371d2ce634759bd3f4bc7a16-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_44.png.png
https://stuga.dokit.app/images/thumb/8/80/R0015077B_Module_A_infeed_arm_alignment_Screenshot_45.png/ia-23273870173bdaf8cae461386ac22450-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_45.png.png
https://stuga.dokit.app/images/thumb/3/3b/R0015077B_Module_A_infeed_arm_alignment_Screenshot_44.png/ia-6d8cecbc094377ffc8d059a53876f616-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_44.png.png

Step 5 - Quality Check

If the frame has been leveled accurately, the last section mounted
should still be approximately mid slot when leveled

If there is not enough adjustment available in the slot at this point to
level section, it indicates an error on frame leveling.

Supervisor check required at this point to confirm adjustments

1> “Frame™ (Default <As Machir

Step 6 - Pin sections in position

1 3 off mounted sections now require drilling for spirol pins
2 Drill hole 7mm, then increase to 8mm and then fit 8mm x 24mm spirol pin

3 Repeat this on all dowel positions on all 3 mounted sections

- d

Page 7/ 15


https://stuga.dokit.app/images/thumb/4/42/R0015077B_Module_A_infeed_arm_alignment_Screenshot_46.png/ia-da1b2925798d57584b2a43d982678566-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_46.png.png
https://stuga.dokit.app/images/thumb/2/25/R0015077B_Module_A_infeed_arm_alignment_Screenshot_48.png/ia-d6a976f01d62bb65f1972e49f3331675-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_48.png.png
https://stuga.dokit.app/images/thumb/9/91/R0015077B_Module_A_infeed_arm_alignment_Screenshot_47.png/ia-4ef70ee72d2068baf79136f9ef8fa871-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_47.png.png

Step 7 - Finalize fasteners

1 Remove M12 x 25 set bolt
2 Add Loctite 243 to thread
3 Refit and add final tension
4 Mark bolt as complete

5 Repeat for all M12 fasteners

Step 8 - Prepare Support Channels

Prepare D0O015035B,D0015036B and DO015037B ready for fitting.

All tapped holes require cleaning to remove any debris from coating process

Page 8/15


https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_47.png
https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_51.png
https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_50.png

Step 9 - Mount Section

1 Mount DO015035B as shown using M10 x 20 set bolts and A form washers
2 Mount D0015036B as shown M10 x 20 set bolts and A form washers

3 Mount DO015037B as shown M10 x 20 set bolts and A form washers

4 Ensure when mounted, Middle slot position is obtained

5 Do not use Loctite 243 at this point

D0015035B  D0015036B D0015037B

D0015036B D0015037B

D0015036B

D0015036B

Page 9/ 15


https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_57.png
https://stuga.dokit.app/images/thumb/d/d1/R0015077B_Module_A_infeed_arm_alignment_Screenshot_59.png/ia-cfd9ee70e86fd55ee11429170acb0377-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_59.png.png
https://stuga.dokit.app/images/thumb/2/27/R0015077B_Module_A_infeed_arm_alignment_Screenshot_62.png/ia-3e91899b025fbaaf9acfcdecf3922515-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_62.png.png
https://stuga.dokit.app/images/thumb/2/28/R0015077B_Module_A_infeed_arm_alignment_Screenshot_61.png/ia-09877afeaa4cccb7737b06abb7309e75-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_61.png.png
https://stuga.dokit.app/images/thumb/7/77/R0015077B_Module_A_infeed_arm_alignment_Screenshot_63.png/ia-795695f95fae7608987921db4e8dc664-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_63.png.png

Step 10 - Mount Pre assembled load Arm 1

1 Mount 1st Arm as shown, using pedestal stand and jack to support arm Fix with M10 x 30 socket caps and A form washers.
2 Use engineers level to adjust arm level at the indicated point
3 Use 1 meter straight edge and engineers level and adjust to level using jack

..only use the indicated face to level from. Due to manufacturing tolerances, any other faces will give a discrepancy to the top face
which is the datum

Page 10/ 15


https://stuga.dokit.app/images/thumb/4/4e/R0015077B_Module_A_infeed_arm_alignment_Screenshot_64.png/ia-3d5e5a76d215ad7dd5e71355d54e6898-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_64.png.png
https://stuga.dokit.app/images/thumb/8/86/R0015077B_Module_A_infeed_arm_alignment_Screenshot_65.png/ia-494113ced3912d947ce87131aa36844f-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_65.png.png
https://stuga.dokit.app/images/thumb/3/3e/R0015077B_Module_A_infeed_arm_alignment_Screenshot_66.png/ia-d9e1b4fecd50b82bdfc80a86f285f4ce-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_66.png.png

2%

Step 11 - Fit Pre assembled support brackets

1 Mount support arm to loader arm using M8 x 30 socket cap , heavy M8 washers and M8 nyloc nut
2 Position Bottom of support bracket to dimension shown, and mark hole onto box section
3 Drill and tap hole to M6 and secure bracket with Mé x 20 socket cap and heavy M6 washer

4 Tighten 2 off M8 socket caps and nylocs on support bracket and remove jack and pedestal

AR 139.65Fmm

Page 11/15


https://stuga.dokit.app/images/thumb/3/39/R0015077B_Module_A_infeed_arm_alignment_Screenshot_67.png/ia-2f8b5379b42c9ed103fb8723ebef62a5-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_67.png.png
https://stuga.dokit.app/images/thumb/2/24/R0015077B_Module_A_infeed_arm_alignment_Screenshot_71.png/ia-9a29af3f46614d60adb6acc62f3df0c8-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_71.png.png
https://stuga.dokit.app/images/thumb/4/47/R0015077B_Module_A_infeed_arm_alignment_Screenshot_70.png/ia-5d1c3fdd6ca266564c552fcb28425a3c-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_70.png.png

Page 12 /15


https://stuga.dokit.app/images/thumb/b/b3/R0015077B_Module_A_infeed_arm_alignment_Screenshot_72.png/ia-d751d34840fc3fc65e56728101b0147d-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_72.png.png

Step 12 - Install remaining arms

1 Mount remaining 8 arms using to the same procedure.

2 To determine bottom bracket drilling position, measure between
each arm when fitting to calculate the pitch, and set bottom support
bracket to position to replicate the top . Picture shows points to
measure

Page 13/ 15



https://stuga.dokit.app/images/thumb/a/aa/R0015077B_Module_A_infeed_arm_alignment_Screenshot_73.png/ia-715a82b3c23d0e5213052ed1a3973ccc-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_73.png.png
https://stuga.dokit.app/images/thumb/4/4b/R0015077B_Module_A_infeed_arm_alignment_Screenshot_74.png/ia-90c0464d37fcec1069dff8aebc6360ff-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_74.png.png

Step 13- Arm alignment

1 Set awire line along front face of all arms

Use dokit ALIGNMENT USING WIRE LINE to ensure correct use
2 Leave arms 1 and 9 as datum positions. Do not adjust these
Move arms 2 to 8 in or out to achieve alignment on wire line

Q ..Use a G clamp or lever bar to give controlled movement when adjusting arm position

3 Ensure mounting channel joining points are also aligned to each other
4 Apply light tension to fasteners next to arms on support channel

Step 14 - Check levels

1 Check levels as shown and adjust if required as this may have moved slightly when adjusting arm position

2 If any level adjustments are done, recheck wire line for straightness

Page 14/ 15


https://stuga.dokit.app/wiki/Alignment_guide_using_wire_line
https://stuga.dokit.app/images/thumb/5/5e/R0015077B_Module_A_infeed_arm_alignment_Screenshot_75.png/ia-3c0c53a0fca858be40286c5307d9a492-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_75.png.png
https://stuga.dokit.app/images/thumb/2/27/R0015077B_Module_A_infeed_arm_alignment_Screenshot_62.png/ia-0a575cafee2bcc85dd3ca544dd0ab3fa-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_62.png.png
https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_67.png
https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_75.png

Step 15 - Quality check

Sign off required by supervisor at this point before finalisation

Step 16 - Drill and Pin 1st stage

1 Drill first stage dowels above and below at points indicated to
stop movement when finalising fasteners. Drill 7mm, Then increase
to 8mm and then add 8mm x 24mm spirol pin. Repeat these steps at
all indicated dowel points.

...Do not drill all dowel holes first then add all spirol pins at
the end. Movement may occur and settings will be lost.
Drill hole, add spirol pin and repeat

Step 17 - Finalize fasteners

Remove M10 x 20 set bolts one at a time, add Loctite 243, refit, add
final tension and mark . Repeat this for all M10 fasteners along
aligned channels.

Step 18 - Drill and Pin 2nd stage

Remaining dowel points can now be drilled as above, and final spiral pins added

Page 15/ 15


https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_76.png
https://stuga.dokit.app/images/thumb/0/0c/R0015077B_Module_A_infeed_arm_alignment_Screenshot_77.png/ia-c4d80f146a22b6e12a42b24087538b07-1000px-R0015077B_Module_A_infeed_arm_alignment_Screenshot_77.png.png
https://stuga.dokit.app/wiki/Fichier:R0015077B_Module_A_infeed_arm_alignment_Screenshot_78.png

	R0015078B Module A infeed arm alignment
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Mount 1st section
	Step 3 - Mount 2nd section
	Step 4 - Mount 3rd section
	Step 5 - Quality Check
	Step 6 - Pin sections in position
	Step 7 - Finalize fasteners
	Step 8 - Prepare Support Channels
	Step 9 - Mount Section
	Step 10 - Mount Pre assembled load Arm 1
	Step 11 - Fit Pre assembled support brackets
	Step 12 - Install remaining arms
	Step 13 - Arm alignment
	Step 14 - Check levels
	Step 15 - Quality check
	Step 16 - Drill and Pin 1st stage
	Step 17 - Finalize fasteners
	Step 18 - Drill and Pin 2nd stage


